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AMBE gCHOOL, Manjalpur, Vadodara

Class - 1 Practice Worksheet Year : 2013 - 14
Q.1 Count the squares that are not crossed out to find out the answer. (3)
(1) [LIXX 4-2=__ 4 [XXXX 5-4=__
(2) LLT IXIXIX 7 -4-= (5) DXXIXIXIXIX] 6 — 6 =
) [IX 2 -1=__ 6 [TI11] 4-0=__
Q.2 Cross out squares to find out the answer. (3)
W IITTITT7TI7TT7T] 8-4=____ @ [IIITITITT]7-7=_____
(2) [ITIT1T1] 5-2=____ (5 [IITITT] 6-4=____
3) (IITIIITITI]19-5=__ (6) [I1J 3-0=__
Q.3 Subtraction using the abacus. (4)
(1) T 0 (2) T 0
16 1 8
- 5 - 6
Q
(3) T 0] (4) T 0
19 16

— 4 — 3
Q.4 Subtract by counting Backward. (5)
(1) 17-3=[1[1] = (2 19-5=[11111]=
) 10-3=[1T1] = (4) B8-5=[1111]]-=
(5) 15-2=[T1] -
Q.5 Subtract by reading the stories. (3)

(1) There are 18 people in a bus 3 get off. How many are left in the bus ?
18
- 3

Ans. : people are left in the bus.
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(2)

(3)

Q.6
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There are 14 butterflies in a garden. 4 fly away How many are left ?
1 4
— 4

Ans. : butterflies are left.

There are 9 parrots on a tree. 5 fly away. How many are left on the tree ?

9
-5
Ans. : parrots are left.
Solve the following. (2)
(1) 9 (2) 8 (3) 18 (4) 19

— 4 -3 - 8 — 6
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